134/22 - M

Question Booklet Alpha Code

A

"ON °IS 19pjoog uonsanp

Total Number of Questions : 100

Maximum Marks : 100

Time : 90 Minutes

10.

11.

12.

13.

14.

INSTRUCTIONS TO CANDIDATES
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1. Which among the following is not a Staff function ?

A) Accounting B) Finance
C) Quality Control D) Purchasing

2. Which among the following is not a Traditional Non budgetary control device ?
A) Operational Audit

B) Special Reports and Analyses
C) Management by Walking around D) Zero Based Budgeting

3. Which among the following Organisation structure is also known as U-Form
Organisation ?

A) The Functional Structure B) Divisional Structure
C) Line Structure D) Line and Staff Structure
4. Which among the following is not a managerial skill ?
A) Conceptual Skills B) Diagnostic Skills
C) Political Skills D) Aesthetic Skills
5. Situational Leadership Theory (SLT) is developed by
A) House and Mitchell

B) Fred Fiedler
C) Paul Hersey and Kenneth Blanchard

D) Vroom and Yetton

6. Herzberg’'s Two Factor Theory is associated with
A) Organisation Structure B) Motivation
C) Communication

D) Leadership

7. Which among the following is not a centralised communication networks ?
A) X type

B) Y type
C) Wheel type D) Chain type

8. Which among the following is not a Non Verbal communication ?
A) Paralanguage

B) Proxemics
C) Public Address System

D) Kinetic behaviour
9. Which one is not true about ‘Grapevine’ ?

A) It arises from social relationships
B) It cannot be controlled by management
C) ltis nothing but rumours

D) It supplements formal communication process

10. The K.I.S.S. principle of communication means
A) Keep It Short and Secret B) Keep It Short and Simple
C) Keep It Smart and Secret D) Keep It Simple and Secret
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11. Interpersonal barriers of communication does not include
A) Semantic Barriers B) Cross-Cultural Diversity
C) Feedback Barriers D) Information overload

12. The lateral information flow that occurs both within and between departments

is called
A) Upward Communication B) Downward Communication
C) Horizontal Communication D) Transactional Communication

13. Kaizen means
A) Alteration B) Disinvestment
C) Improvement D) Concealment

14. The visible record used in JIT is technically called
A) KANBANS B) KAIZEN
C) BINCAN D) BANCAN

15. The measures of performance specifically focused on Business Process
Reengineering are
A) Cost, Quality, Accuracy and Service
B) Cost, Quality, Service and Speed
C) Cost, Price, Service and Speed
D) Cost, Quality, Service and Satisfaction

16. The best known example for the use of benchmarking is
A) IBM B) MOTOROLA C) XEROX D) MICROSOFT

17. ‘Zero Inventory’ is a feature of
A) ABC B) PERT C) CPM D) JIT

18. The year in which the first ISO 9000 series was originally published
A) 1991 B) 1992 C) 1987 D) 1980

19. Which of the following are fictitious assets ?
i. Discount on issue of shares
ii. Patents and Trademark
iii. Pastaccumulated losses
iv. Mines and Quarries
A) Only ii, iii and iv B) Only i, iiand iv
C) Only i andiii D) All of the above
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20. A particular business provided the following data :
Stock turnover ratio = 3 times
Average stock = 50,000
Calculate :
i. Cost of goods sold.
ii. Sales, if profit earned is 30% of cost.

A) i. Rs. 1,50,000 ii. Rs.1,05,000
B) i. Rs. 1,00,000 ii. Rs.55,000

C) i. Rs. 1,25,000 ii. Rs.1,00,000
D) i. Rs. 1,50,000 ii. Rs.1,95,000

21. If the closing stock is given inside the Trial Balance, the accounting treatment is/are
A) Shown only in credit side of Profit and Loss A/c
B) Shown only in credit side of Trading A/c
C) Shown only as an asset in Balance Sheet
D) Shown in credit side of Trading A/c and as an asset in Balance Sheet

22. Match the items of List — | with those of List — Il and choose the correct code of

combination :

List -1 List -1l
a. Debt — equity ratio 1. Profitability ratio
b. Acid-test ratio 2. Activity ratio
c. Operating expense ratio 3. Leverage ratio
d. Debtors turnover ratio 4. Liquidity ratio

A) a-4, b-2, c-3, d-1
B) a-3, b-4, c-1, d-2
C) a-3, b-2, c-4, d-1
D) a-2, b-1, c-3, d-4

23. Given that
Current ratio = 2:1
Acid-test ratio = 0.75
Current liabilities = Rs. 2,00,000
The value of closing stock will be
A) Rs. 2,50,000 B) Rs. 1,50,000 C) Rs.2,00,000 D) Rs. 3,00,000

24. Balance Sheet provides information about the financial position of a specific

business
A) at a specific point of time B) over a period of time
C) for a period of time D) none of the above
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25. Considering the given data :
Net Profit after interest and tax = Rs. 3,00,000
Tax rate = 50%

Long term debt of the company = Rs. 6,00,000 (at an average interest of 10%)
Then, the interest coverage ratio is

A) 7.5 times B) 9times C) 10.5times D) 11 times
26. Choose the correct journal entry for Goods distributed as free sample (Gratis)
A) Advertisement A/c Dr
To Trading or Sales A/c

B) Advertisement A/c Dr

To Trading or Purchases A/c
C) Trading or Sales A/c Dr

To Advertisement A/c
D) Trading or Purchases A/c Dr

To Advertisement A/c

27. Which of the following are limitations of an accounting ratio ?
i. No idea of probable happenings in future
ii. No common standard for comparison
iii. Different meanings assigned to the same term
iv. Ignores quantitative factors
A) Only ii, iii and iv

B) Only i, ii and iv
C) Only i, ii and iii

D) None of these

28. Arrange in the order of liquidity in the Balance Sheet — Cash at Bank, Furniture,
Goodwill, Bills receivable, Machinery.

A) Bills Receivable, Cash at Bank, Furniture, Goodwill, Machinery
B) Cash at Bank, Goodwill, Bills Receivable, Furniture, Machinery
C) Cash at Bank, Machinery, Goodwill, Bills receivable, Furniture

D) Cash at Bank, Bills Receivable, Furniture, Machinery, Goodwill

29. The General Manager of a business concern is eligible to get a commission of 10%

on the Net Profit after charging such commission. If the Net Profit is Rs. 5,50,000,
the General Manager is to get commission of Rs.

A) 55,000 B) 50,000 C) 61,111 D) None of these
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30. Considering the given data :

31.

32.

33.

34.

Equity Share capital = Rs. 1,00,000

(10000 shares of Rs. 10 each)

Net Profit before Preference Dividend and tax (after interest) = Rs. 50,000
10% Preference Capital = Rs. 1,50,000

Taxes = Rs. 10,000

What is the Earning Per Share (EPS) ?

A) Rs. 2.5 per share B) Rs. 2 per share

C) Rs. 1.6 per share D) Rs. 3 per share

Which of the following statements are true about the objectives of production planning
and control ?

i. Minimizes idle times of men and machine

ii. Minimizes bottlenecks along the production flow

iii. Minimizes the percentage of commitments given to customers
A) Onlyiandii B) Only i and iii
C) Only ii and iii D) All of the above (i, ii and iii)
Which of the following inventory management techniques is useful for eliminating
inventory handling costs, by keeping only as much inventory as the company needs
during the actual production process ?

A) ABC Analysis B) Economic Order Quantity
C) Just-In-Time Inventory Management D) Lean Manufacturing

What are the needs of MRP Il ?

i. Accelerate production record processes
ii. Avoid delayed orders

iii. Enhance work schedules to align with labour time
A) Onlyiand ii B) Only i and iii
C) Only ii and iii D) All of the above (i, ii and iii)
Which of the following factors affect the decision to ‘buy’ goods out of ‘make or buy’
decision ?
i. Shipping charges
ii. Sales tax charges
iii. Timely supplies of materials
A) Onlyiandii B) Only i and iii
C) Only ii and iii D) All of the above (i, ii and iii)
-10-
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35.

36.

37.

38.

39.

40.

Which of the following are the major drivers of supply chain performance?
A) Distribution, scheduling, production, inventory

B) Location, information, production, inventory

C) Logistics, distribution, inventory, planning

D) Production, inventory, logistics, marketing

Which of the following best describes supply chain management ?
A) A process that integrates demands and supplies

B) A strategy for improving brand image

C) A system that ensures proper delivery of goods

D) A system that redesigns business processes

What are the key factors that affect forecasting ?
A) Industry, Price level, R&D, Competitors
B) Price level, Industry, R&D, Core Competency
C) Technology, Price level, R&D, Industry
D) Industry, Price level, Technology, Employees

When materials are required, firms which are registered will be invited to tender their
rates in a sealed envelope is called

A) Closed Tender System B) Local Purchase System

C) Open Tender System D) Single Tender System

Which of the following are key functions of purchasing department ?
i. Find reliable suppliers to meet the requirements
ii. Run quality control and product testing
iii. Manage budgets based on the ROI
A) Onlyiandii B) Only i and iii
C) Only ii and iii D) All of the above (i, ii and iii)

What are the essential elements in a material flow control system ?
A) Materials Planning — Plant Operation — Supply Chain Control — Information
Feedback
B) Materials Planning and Programming — Plant Operation — Systems Analysis —
Information Feedback
C) Materials Acquisition — Materials Conversion — Systems Analysis — Information Recall
D) Materials Ordering — Plant Operation — Process Analysis — Information Feedback

-12-
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A) ayaumowo, alleidleinidee, R&D, ag@looged

B) alleidleicioeo, aiyaimowo, R&D, a1wom eomym

C) mossm-ailealley, alleimleiaione, R&D, alyaimowo

D) cuyaumowo, afleimleinionoe, mossaleallay, eflaimenod

e0glelend:d @OIC MO IyEMIOWD, AHlaNd 6.21QflSies MNdaIMeBes Mldd 6.01Q)
HHQUCI@ HSMAWD 6.21Q0M BHEMIHHIM oClWOIMo.

A) @rsoy esdwwd mlgyo B) (@106udle: alidsojoy miqgo

C) &0ged esadawd avlgyo D) alousldd esdand migyo

®26¥a|0WIMAI@d QRODOIOBEOWIET QLIOEIBMD Qe O (EIWOM (EIQAIBEDMENBWD ?
I. @O IEB®H:W MlosgiM@IN Allvlmml@no® AN®OEMEEIOND EE6NBEMYH:.
ii. ;gemmlaialoe wleEmemalio 980N aldlErIWM@o (IO BTlaleeiw.
iii. ROI @oslaunommossi] enieegaestd ml@(roiles .
A) i 9o ii o mo@o B) i &0 iii 9o mo@o
C) ii 8o iii ®o @o@®o D) oyl atosmmalewg)oo (i, ii, iii)

O0GlAIM 3o HEMGSIUd MIELEBINE @O CRISEEIZWD ag)OMDIOLHWIEM ?

A) eogldlo@@m’ gjomlowy — gl 60a]E0aHM — MVO6g] 6.21QfM HeMGSOTd
— 0MandBRAHUM adlaenioss

B) eagldlomay’ gjomlory @b’ @elo@oalou’ — gJoad 60qje0aum® — milgyo @meeelmilmy’
— DMaNdBRAHMD afluienIoHs

C) engldlo@my’ @od:ymilanm — eagldleadm’ @:smadealand — miguomy’ @meaeesimimy’
— eDManBEaHMD Gld>00d

D) eoglelocdm aodawdlowy — gJof 60a{80aHM — Elomvqy @meselmilmy’
— 60MandBRUM adlaWenIoss)
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41,

42.

43.

44,

45.

46.

47.

48.

Which of the following equation most appropriate in terms of ‘right price’ ?

A) Value = Quality x Price B) Value = Quantity x Price
i Quantit
C) Value = Juality D) Valug = —o
Price Price

What are the four stages of source selection ?

A) Enquiry — Information — Negotiation — Experience
B) Indent — Survey — Negotiation — Experience

C) Order — Survey — Enquiry — Feedback

D) Survey — Enquiry — Negotiation — Experience

Which of the following is applicable to purchase requisition ?

A) It indicates the type and quantity of items to be purchased

B) Itindicates the type, quantity and quality of items to be purchased

C) Itindicates the type, quantity, quality and price of items to be purchased
D) All of the above

Bill of materials show

A) Complete list of all materials, components and parts required for a job

B) Complete list of all materials and components, parts required for a department
C) Complete list of all materials and components, parts required for the purchase

department

D) Complete list of all materials and components, parts required for the stores
department

While purchasing the materials, weighted point method is used for deciding

A) Right quality B) Right quantity

C) Right price D) Right source

Purchase order is prepared by

A) Stores manager B) Stores and purchase manager

C) Purchase manager D) Stores, purchase and issue managers

A debit note of materials received is prepared when

A) The materials received are less than the quantity ordered
B) The materials received are in excess of quantity ordered
C) The materials received are equal to quantity ordered

D) None of these

Which of the following is not an objective of store keeping ?
A) Prevents under stocking and over stocking

B) Prompt issue of materials

C) Minimise the storage cost

D) Ensure economy in purchase of materials
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43.

44,

45.

46.

47.

48.
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‘Ao Qllerwies @ESIMOOMEBIE PO MVANUIE:YETBEIE aR®OM afROllo
@OMIGQIR0 ?

A) ageiyo = oiemaileiniooo x allel B) oyeiyo = @ogal x allel
(@el2Tel)
c _ (n3emenm D _
) ogelyo BT ) ogelyo e

eoallso (Source) mloeanmsyeenMailed moel eaISEBW@ ag)emIeEHQOEN ?
A) @oemlatemo — QlAIEEB — 21Bo)dM — ag)galldloaday’

B) spadawad — mdeq) — 21@oje: — ag)&allddmy

C) 80dwd — mdeq) — @remjausmo — adlaienioss)

D) avdeq) — @oemiaremo — 21d.odtd — ag)@aildlddmy’

QI0EIBM @oEd@AM (purchase requisition) ®oewe o@IMAIRIG a@@lmosn eniowdso ?

A) QuosemBeE QIYIEOHRIOS ®OULC @IS @ ugallalleniomy

B) aioeemsens QIqiengies ®oo, @gal, miemaileiniono agymilal 0@ avgalla fleenyamy

C) aiosemens QIRISHSINS ®0o, @SAI; 1eMleIniore, aflel agyomlal @ ugeflafleeyomy
D) 2y&el@d alosmmalowg)do

o0GICIERILE:816S n@ ag)aTlom &@:0emlenyamy ?
A) 220elles @DAIINOW ag)ejd ONFICIWEIE:EIONSW L0 CLISEEIBEIONSW L0 BINEIBRINST 0
alydemmom eflqy
B) &0 Qe | @01 ymo® ag)glo ongltlwes.81eswio CRISE:Ba0SW o,
@OEIBBIOSWV o alydemmow ellgy
C) aemad aisia/loy @oItimO® af)eld 6aglelweldaInswio CRISEHEBRIOSW o,
@OMNEIBRIOSW® o alyBdenmow ellqy
D) eauod Qs ialo @000 im0 ag)gfo 60Glelweidha1ns@io *AISE:EBRIOSW o,
@ONEIBBIOSV o alydemmow ellgy

0gIBlEIE:0 QI0EBLEMIOWD, ORI GBalo@IN Al ©aIEROUIIEHIME@ ag)a®
Slo@OMEH M@ M6 ?

A) wdlwow wiemailailono B) wdlwow @ogal

C) ndwow allel D) wdwow soalso

aIRB20V BOBWR ®YOIOIHOHIM®

A) egyodm’ mosmead B) egyooissao, al®eojmy moemesno

C) aIdegm moemead D) eguooyet, al®eojmy, nary)l mOGMERBMOD

eIcla] 60glUleaHIes B0) HWNIE BMIT ®YOI0IHHIM®) ag)Ea[0LI6m ?
A) ey engldlwed:d eodd 6019 @OSANBMESNIWD ByONIBIEMUOWD
B) a@lo engldwesd 808wd 6016 @8ONG @)SymEI0RIEMIOD

C) edly engldlwee:id 80dd 621 @8ANM MLl MOBIEMUIORD

D) sncue@omymg)

®06% alOWIMAIRIE a@®oem dauod MyBHlaflod et ReloED® ?
A) eERoosloUsly MOIOYQIBBMmIO BHISIOM MOBOEMALI0 BMSQIM@
B) cvoaile:aies vclwow allmoemo

C) moresme el alo@OIus] @Ok

D) mon@ilé@ a10emym@l@d romiE M §0a|006id:
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49. Which of the following approach is related to JIT philosophy ?

A) ABC B) MIPS C) FNSD D) VED
50. Checking of stock is carried out by comparing the actual stock with

A) Stores ledger B) Material Received Note

C) Bin card D) Bin card and Stores ledger

51. Which of the following statement is true ?
A) Bin card is maintained by the costing department
B) Bin card is received by the goods receiving department
C) Bin card is a quantitative record of all materials maintained by the store keeper

D) Bin card is a record of quantity and value of materials maintained by the store keeper

52. Actual stock of materials may differ from balances shown by bin card or stores ledger
due to avoidable causes. Identify the avoidable cause from the following.
A) Breakage
B) Deterioration due to climatic conditions
C) Loss by shrinkage and evaporation
D) Gain by absorption by moisture

53. Normal wastage of materials
A) Can be avoided B) Cannot be avoided
C) Has some residual value D) Is a scrap

54. When the scrap of materials is identifiable to a job, the journal entry to record the
same is
A) Cash a/c Dr
To Job a/c
B) Job a/c Dr
To Cash a/c
C) Scrap alc Dr
To Cash a/c
D) Job a/c Dr
To Scrap a/c

55. The cost of spoilage of material includes
A) Direct materials loss only
B) Loss of materials and loss of wages
C) Indirect materials loss only
D) Loss of materials, labour and manufacturing overheads
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49. ©26% a10@IMAIRI@ af@ qvdlaimadem’ JIT @omiolomimond enicweq Sldlenima ?

A) ABC B) MIPS C) FNSD D) VED
50. @0odmn eEROBSIOM H@®IMOWVS BIO®MA Yo 6).21QIOBHIMNSIEM BERIBE) alBIBUOIUSLEIM.
A) eguodmy eriwzd B) eagldlo@ mufle:dley dydlaf
C) enflad 00w’ D) enflad w:08Wio BERONIGEIOS ORI

51. 069 0WIMM (EIRIQIMEEIT a@®O6M (0@l ?
A) enllad #:08 aldlatoellenyma eeogylowy Wlajodgnaoem’
B) enflad @-0ba” avowmemsdd aufle:aleniam aldsyallad alamy’ eiclenyomny
C) eguod o5lad alidlaiopllenymm aggjo QIRIEHSRIOS@io @EROT BoeIWOem enild e:obw’
D) enflad @08 ag)om@ aguod @sla]d aldlaloelleniom alqiensies @aalofwo
OJRIOTIOM 0 GOELUDIEN

52. &¥1009H001aN H006eMEBEO@ Nl HOBW GROERISI@ GEONL;HEINS OHRIWERD
B06MIH6) 30N ENIDLIMMVIBEIE MlaT HaFlClweE:R16S WLNOBMA BERIBE (O Y® YOMVeQ|So.
®069a]0@IMAIQE wlom BLAOHHINIYM HO06Mo @@l Gl d:.

A) ealos@

B) ®:0e10Q1m00 002106080 0leI0)88 @oalal®o
C) anymiemselio enidafle0emalio QIFIIas Mado

D) e1dalo @owloemo 621Qum@iees emsyd:

53. QIMQEHROS MVIWOVEM alOPOLO@D
A) &¥la10e60 B) e¥lauoenom e:¥leig)
C) allel guoadlenym myelymiensodsio D) &y (0poa] @oen

54. eoglclwels:a1es (oo B0y 6220ell @S H04ElWOE, EIE EOEIMQISIEMOMIBR GEREM@d

ag)(Sl @M’

A) ®y0ed alc Dr
s4 6&oent’ a/c

B) e=oeni'a/c Dr
Sy Yoot a/C

C) poaialc Dr
Sg #Hy0ad’ a/C

D) emoemia/c Dr

s} (poaja/c

55. engldlwelom esialosiddanias alleiefd snal oBealsiomy
A) smdlgies eogldl@ mago mo@o
B) qvoawilegiens magailo sell mayaiio
C) alc0oEHmO® MON(UIlE:81es MaYdo MO(®o
D) avoa@ile:®, 6moslengle:dd, mldamoem eo0Ideanwyd:@d agmlaI@ies Mayo
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56. An inventory tag is used in

57.

58.

59.

60.

61.

A) Periodical inventory system

B) Perpetual inventory system

C) Continuous stock taking system

D) Perpetual cum periodic inventory system

Pareto analysis means
A) 75:25 rule B) 20:80 rule C) 50:50 rule D) 80:20 rule

Localised purchasing is the same as that of
A) Centralised purchasing

B) Decentralised purchasing

C) Centralised and decentralised purchasing
D) None of these

Decimal system of codification of material is
A) Alphabetical method B) Codification
C) Numerical system D) Classification and codification

Lead time is used for

A) Determining the stock levels

B) Determining the reorder stock levels
C) Determining the average stock levels
D) Determining the danger stock level

Which of the following statements about Supplyco is/are true ?
i. Supplyco is a Government of Kerala owned company headquartered at
Ernakulam.
ii. Itacts as the execution arm of the Department of Food and Civil Supplies of the
Government of Kerala.
iii. It was founded in 1976.
iv. The company serves the purpose of Governmental intervention in the retail market
to control prices of essential commaodities.
A) All the above B) Onlyiandii
C) Only i, iiand iv D) Only i, iii and iv
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56.

57.

58.

59.

60.

61.

80} HMOOUMRAT] SOUT ag)Bilm ©ale@OUTlEnyMy ?
A) eoMB:0els: snmei@al algyo

B) ea1dealolmd sodecial ailayo

C) msdoy@ow eERIBs ag)Siee® amlgyo

D) eaidealol@ &o alldleonslss snadeaiial avlgyo

a10606Q0 QlltodeIMo ERBMOMOLHIM®
A) 75:25 mwao B) 20:80 mlwao  C) 50:50 mlwmo

(0 10BBUTIBOUMHLOH @2 QUOETB@ ag)ATIMY @I JMO6M ?
A) 8o ((3dry® aldeaaulousion’

B) aflesdley® QIosmmd

C) eaBleymaiio Alled:((3lema1ymo® aldeajmilowy

D) spcue@ommymgy

engldelen c@oulle:-0emamla Guodoto Molllomo

A) @RHHO0LI0 ()@ B) ewoailsmmemo
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D) 80:20 wao

C) avosuyo qvoallwomo D) cidgleoemaiio ed:0ousleoemalio

efla’ oo a@@lmowf §aleouslenyany ?

A) egRoss erinlels:d rdenileeod

B) e&guoss er1a1ejwe:@® alym:(@:nle:@lenoad

C) 0o0al egRoLs) HaInle®:@ MIdenlaand

D) @0ald:sH0000 eguossy ©eleld:d® aldenelenod

MO6GJEMHINW Gl 2|I8R ®IOPe|OWIMM (AITROAUM BT al®o6em (0@l ?

I. 2g)OeMIB:i80 EDMNOMMIW (IQUAEBIHHINM 08 MABLHIGIOM HSamAmEILas

BMUMIQIEM MV6)6)GIBEO.

ii. a8 Mdeeodlod eeuy-milalad qeaeg)m’ aldiallom mldajeoem alleonmo @

(I UR®BHHIOM].

iii. 1976 e0em’ sn@ qunda @O,

V. @oauuoymowmemgles aller dlemlenimaim Sloseld allatemlelc avdesod

ENSOAIS@ ag)(M Ll JBEMIOHSQOIEM &MU (aIQUIBGEBHOHIOMN®.

A) m&El@ alosmmOlIOHWE)O0 B) i, ii agyamlar mo@o

C) i, ii, iv agomlal mo@o D) i, iii, iv agomlal mo@o
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62. Supplyco has been steering the market intervention operations in Kerala, by
i. Selling essential items at rock-bottom prices through its expanded network of
more than 1600 outlets.

ii. Itsells 13 items at the subsidized price fixed by the government.
iii. Commodities are sold without quantity restriction at free sale rate.

iv. Supplyco is not engaged in trading pharmaceutical, petroleum products etc.
Select the true answer from the codes given below :

A) Only i, i and iii B) Onlyi,iiandiv C) All the above D) Only i, iii and iv

63. According to Whistle blower policy/Vigil Mechanism of KSCSC, the sentences which
is/are correct ?
i. The Nodal officer to receive protected disclosures, is Manager (Audit).
ii. Anonymous/ Pseudonymous disclosure shall also entertained.
iii. Protected disclosures against the Nodal officer should be addressed to the
Managing Director.
iv. Protected disclosures against the Managing Director should be addressed to the

chairman of the Audit Committee.
A) All the above B) Only i, iiiandiv C) Onlyi,iiandiii D) Only ii, iii and iv

64. Read the following statements, which is/are correct ?
i. According to the IT usage policy of Supplyco, Information Security Officer is
Manager (MIS).
ii. Information Security Officer assumes overall responsibility for ensuring the
implementation, enhancement, monitoring and enforcement of the IT usage policy.
iii. The Information Security Officer is responsible for providing directions and

leadership.
iv. MIS Division is the legal owner or operator of all IT resources.
A) Only i, ii and iii B) Onlyi,iiiandiv C) Only ii, iiiandiv D) All the above

65. According to the IT usage policy of Supplyco, Employees shall not engages in any
of the following activities.
i. Using information systems of actively engage in procuring or transmitting material
that shall be deemed as obscene offensive to the state and/or co-employees.
ii. Making fraudulent offers of products, items or services originating from any Supplyco
account.
iii. Circumventing the security systems implemented to protect information systems.
iv. Data backup in Desktop PC at outlet.
Which statement is wrong ?

A) All the above B) Only iv C) Only iiiand iv D) Only i, ii and iii
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62. (6615 EMHOWIEN BRA8ETI6EI Qllaiem] SO IS@D (INIBEHMETBRHE EM@® @0
mm%oea&(mm
i. 1600-aiWleso 615601Q4:8265 Allalielle:dla] v joaIrIRlReS @ONIMIAIMIBHWD afROILo
#3060 fleig) all@eniom,.
ii. 660 Ml menimilul Mlossi@d13 ememdd alldenymmy.
iii. avagmy allddajmallaiicd @egal mleEmemallg/on® 21066380 All@oniomy.
IV. 66gIEH0 aNdBMMV YSIHH@, HalESIElWo H@a]METBWD @ISEEIWAIWIOS (1§00 I0OETIM

apdea|slsle).
®96)9 M@ ABIHIM BB IS MM LVAIWIW HEMOO @IOOETINSIHE)Jbs.
A) i, i, iii egorilal mo@o B) i, ii, iV agamlar ao@o
C) 03egl@ aloemmaiewgjoo D) i, iii, iv agomlal mo@o

63. KSCSC wyes allmiad sepoaid caloglmil/aflglad e&neenomlmo @mimdle], aRomoands
QO YEIBUD @6 (0] 2
i, oo 6O SIEmRIE:WD MlledlenimMalmies emoaw soadlrud, aoemezaoen (soay).
ii. EEREMO®/@0AIOMIDAIADOW HAIGOQ|SIEBmEIL0 MVflEElen 0.
iii. @M@ 830aflMAOLO@IEOW MoEHA® HAUEIO|SIEmEIE:W MOEMELloUl WROZOO
@oclflesnemo.
iV. 206mMeloy WROERBOSO®I00W Mor:H® OISO |SIAmElE:? oW Homld]
£21Q0006M @oCIRlesnemo.
A) 0yBEl alOaTmHAUOWEJO0 B) i, iii, iv agyomicu mo@o
C) i, i, iii agyomiat mo@o D) i, iii, iv agomilau mo@o

64. ©299aJOIM (IPIAIMERD QIOQIE6 8, AR®O6M todl ?
I. qeegjesowes IT ©al6WOU MWo @oMYMEle, DManNBEDaHM 6V YAIF Boadlavd
aoemad (MIS) eoem.
ii. afla1e e 60adlavd IT 9alewon METOM MSa 006 @, HMalealSyEm@, (Fdle:uemo
ag)MIIWEOS HROODOTIRER HOHOOCIEMo AROQSIBONIIM].
iii. 20RWMIBdEEUAIL0 BM@IBICUI M@EYM@IN DMBanBdEnaud eaVE:RAIG! Boadlmvd

6N10U) JTANMOE).
iv. MIS adlaflastcd agygo IT poallsemgioswio Mlwnalono® 9Snewd 60 G0REO0 @DEM.
A) i, i, iii agomlat mo@o B) i, iii, iv agyomilcu mo@o
C) i, iii, iv agyomiar ao@o D) my&el@d alosmmalowg)oo

65. Meeg e0wes T 9alcwown Mo @M@, BlAIMESID ISP alOWYM (- IAIBGHMENBE]
©e1MM 0 a3 |SOM aloslg).

. ocEeMmEmI@ Meflalmo agdeqsymM@imies allalo Mo lwomeBtd HaleIUlleeyy
@6RIESIE MVoAIMEHIM 0 MaOENIMBENIDHEIo BOYIILINIW d:3QBOMIVS] H6MBEIBHEENS
QUMIBOUWD IOEDOOIOM].

ii. ago®slali MO6GIERD @HOHVEMEIT MINT OEERANSEIMM O@a|METBWD, HMEBUD @6 E)8:]Td
BAVAIMETBW ag)MIQUQIOS QURAMIIOMIWQ BOaNOLE:0D HENSIBE Y.

iii. aflaue moalwomemd aldloddlenimMaImo] Msqleeslw MyEE:Ud Mo lwWomeaBes
DOl BHSHEYBs.
iv. 8vgea1gl@ eawaesoa] allmleid wog enioseq].
QR® (IGROQUMOET O®F ?
A) 0)BEla aloammAUOEo0 B) iv mo@o
C) iii, iv agomicu mo@o D) i, ii, iii egomilas mo@o
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66. Which of the following statement is not correct about the KSCSC Common Service

Rules 2021 ?

A) Power to fix cadre strength of employees is vest with the Board of Directors in
consultation with the Government

B) The officers and employees in regular employment of the corporation shall
generally classified into managerial, nonmanagerial and supporting staff

C) The corporation shall have no right to stipulate a dress code for employees or a
class of employees

D) No employees shall participate in a strike unless notice has been issued to the
Managing Director 15 days prior to the proposed date

67. Which is not included in the Supplyco Corporate Social Responsibility (CSR) Policy ?

68.

69.

A) Eradicating hunger, poverty and malnutrition, promoting preventive health care and
sanitation and making available safe drinking water and any related activities.

B) Promoting employment enhancing vocation skill and livelihood enhancement
projects

C) Promoting gender equality, empowering women and measures for reducing
inequalities faced by socially and economically backward groups

D) Transferring subsidy to the poor families

Which of the following statements is not correct about the KSCSC Common Service

Rules 2021 ?

A) The General Manager shall be the authority to interpret the rule vests

B) An employee aggrieved by the interpretation of the rules, may appeal to the Board
of Directors

C) Whereever these rules are insufficient to deal with any particular case, the relevant
rules in KS&SSR 1958 shall as amended from time to time apply

D) The Board of Directors may delegate to any officer of the corporation any of powers
under these rules

As per the KSCSC Common Service Rules 2021, the following are the methods of
appointment in service, class or category of the corporation.
i. Direct recruitment through KPSC or selection from among employees of
corporation.
ii. Borrowing from state government departments or statutory bodies of state/central
government public sector undertakings.
iii. Contract basis and daily wage supporting staff.
iv. Appointment under dying in harness scheme.
Select the true answer from the codes given below :
A) All the above B) i,iiandivonly C) i, iiandiiionly D) i, iiiandiv only
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66. KSCSC ss:0merd audallmy’ oyd@dm2021 moenicwlaf @o69e 0@y el(Qoaime.glad

QR®O6M LAIWLIOED@® ?

A) Zlaimenonies eewd 6Res® MluR@lenimMa@Imies @oulle:000 MBEe0IMOQN &S]
osenallaf Wwwodad eemiodaslm alelqlmoem’

B) &#:08q]e0atte@ qudleo cezoeleile;as 6oadlndnoan®io &laINenond®io HaldminO
M0BMBBQ@, BMNI6M-006MBBQ T, «ucsgﬂo(bgbw“ @oan’ ag)amlemEem @ao@Idleno.

C) gaumeenodeeend 80 alleomo elaimeEndIdesd (WM 8w mluiwlenond
85000 |BOAHM @GR

D) olddley dlowiles’ 15 claimoe mymi’ moemedlor’’ w@OHdes amoglmy’ madssleilsleg) sl
803 ZAUMBNHI0L0 MAOGTIE 016)8HSIBN0ID.

67. 6680 BHBa|B0F BIaHy@ e0miBalosmmimleldl (CSR) saindlmieim oweaq jsiors

@glgjoEm® o ?

A) aiglem], 30@1(BY0, BaldaHEHIa00HNHION oMU EDRIOMIBHYE:, (IBIBOOW @IBOIM,
MoBHeMAUe tiallmiaiio @alomiadlaflenidh@io LIBIMIBE QIO O2IQIds, BKhISIOM
MIOSAIBDAOW HSIOHOIERAIL0 BOMIENINW (A IOIBEHMEIBE 0.

B) ©®@291@ e6maliemialio salgflaim aidavmmio aidatlaleniam emovleinimoasd
8(aJ0®oasla [l .

C) (@68 10oswile:dleanyam, ellonmamio Galomndadlaleeis®io dsoe® qonad
@MW Y0 MOMIABHMOW0 allenmosio ML M ANEIWEBUD EMEISIM @OMVO®)EEBRUD
BORWIM@IMIBE MSalSldhalo B(aloamdasla flanymy

D) a10a16qlg disioemnlemies menitlall 66e:00030m

68. KSCSC s®omerd mudaflmy’ oyd@dmy’2021 avosniullaf @069a]0@ymm (el(Roaimd:ead

QR®OEM VAlWRIOED® ?

A) 0B ©QIERIEHeE 1YO6IPMIEHOMIBE @OUlE:000 BMOT MOBMEDL ERVIGEe 0

B) dloaasgies alyoa0memsiad @oanimomow 60y glaimendnm wodrd eeniodasiay
@oal@d @00

C) agomsslalo (IB®m e BT 6618000 §.01Q0M 60D MIMETBUD aldyOq|n6E)ssIM,
KS & SSR 1958-6¢! ([ 1nemnow rlemssBod @:0e106:0e16886@d 68RO 6.21Q)i0M®
MOl 6NI0UEMIE:L0

D) aoodd seniodwlm’ 66:000]60a1eM aRe®eslalio §GB0MNMNN 60D MQaemBRdesy
H1F1enes apemsslaljo @WIR006MBW@ ag@aflono0iyMmoem

69. KSCSC emomerd avdallmy’ ogddm 2021 @omimudle), 6#:00q]60ate@ smualm@rseeld
goqleeld alleonamlead pag Mwam Gl ®IePe]OWIMAIQOEM.
i. KPSC a1¥l emalgas lidigonnd @neglssl@ eeodaqjeoatmionl glaimsenodld amlmias
®0O6MMSa].
ii. omNom MV AUba il MIEMO oMNOM/EE (03 MVALHID Hald®IC6IRID
QUOOAIMETBELOS MM IOMOIW GENIOWIG:EI@ MIBAMO B:SOMSIHO@.
iii. ®e20slmnomemilele Glalmeaimmemielle 988 MEa odgler gRoad
V. ©eWfloty M an0deMMY Milalm’ ©5l¥lenas @osaljoeidonnd
21)Q16S N@BIQIBHHINM BHIWYE-EI@ MM WLNOB@MO HEMBO BIOEETNHSIEE Y.
A) &l alOsmmOIOHWE)O0 B) i, ii, iv agamlcu mo@o
C) i, ii, iii agyomlcu mo@o D) i, iii, iv agamlar mo@o
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70. Which of the following statements about paddy procurement of Kerala is/are true ?
i. Paying one of the highest procurement price in India to farmers, i.e.; 28/Kg.
ii. During last season 7.65 LMT paddy has been procured and Rs. 2101.9 Crores
have been paid as a cost of paddy to 2.52 lakh farmers.
iii. This is the highest quantity and number of farmers in the procurement history of

Kerala.
iv. There is a considerable decrease can be noted in the quantity and number of
farmers.
A) Only i, ii and iii B) Allthe above C) Onlyi,iiandiv D) Only ii, iii and iv
71. Procurement price of paddy in Kerala includes
A) Minimum Support Price B) State Incentive Bonus
C) Economic Cost fixed by FCI D) Both A) and B)

72. Which of the following statements is correct about e-tendering of Supplyco ?
A) e-Tendering is done through Tenderwizard, which is an exclusively web-based end
to end solution
B) Tenderwizard is developed by National Informatic Centre
C) Earnest Money Deposit (EMD) is valid for 5 years
D) Digital Signature Certificate is not compulsory for all vendors

73. Which of the following statements about the Food Corporation of India is/are true ?
i. FCI undertakes the major role of providing scientific storage of food grains in the

state.

ii. FCI has depots in all the 14 revenue districts of the state.

iii. Inthe state FCl is having 23 owned godowns and 3 hired godowns with a total covered
storage capacity of 6.03 LMT.

iv. FCI ensures the doorstep delivery of food grains to the Fair Price Shops.

A) All the above B) Onlyi,iiiandiv C) Onlyi,iiandiii D) Only i, ii and iv

74. Based on which law, Public Distribution System of Kerala is running now ?
A) Kerala Targetted Public Distribution System (Control) Order, 2021
B) Kerala Rationing Order, 1966
C) National Food Security Act, 2013
D) Essential Commodities Act, 1955

75. Which of the following pairs are correctly matched about the scheme and colour of
the Ration card, as per KTPDS (Control) Order, 2021 ?
i. Antyodaya household — Yellow
ii. Priority household — Pink
iii. Non Priority (Subsidy) — Brown
iv. Non Priority (Non Subsidy) — White
A) i, ii and iii B) i,iiandiv C) iandiionly D) All the above
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70. @8H08mWlOal HME] MOCOEMOBMNENIG12IBR ®OOLQ OWIM (EIRIAUMBEIT aR@o6m vod] ?
i. snomyeieel aprlie &AM moceeMAllal d:datd:de6 M@esleneneMs, Mmow® 28/Kg.
i.  ®levm milavenl@d 7.65 LMT exmel mocdlenyd-wio 2.52 elotto ddatdxd66) exmeflo
alleioef] 2101.9 68081 0l MW 0 6219
iii. 0@ @LHESOBIOM oM 2IB@ETIOL aBRAI0 HWBMM @ORNUY0 BDaUBOLOS

ag)emay@oeN.
IV. &BatH010S agem@vlelio @ogalelio eMmIRO® B y00T GEIOESIEmIo.
A) i, i, iii agorilal @o@o B) 2egl@ aloenmaiewgjoo
C) i, ii, iv agamlal ao@o D) i, iii, iv agomiat mo@o

71. esegomloa omgllon mocosmallel 9ibeq|simMme®as ?
A) @ 06mm @ostBIQE! B) mvomunom sndeuaBlal’ seniosmay’
C) FCI mlvmefafigygs momiasle ealeial” D) A) @io B) @io

72. MO6GIELWIOS 0-6SMWTloUIIOMENT 2] ®IOPaOWINM (EIPIAUMEEIT ag®oem (ol ?
A) -es@wdlow’ esmawdalavodus’ Kl 6.21QumM@, sn@ ealeni @ouwladCl® ag)mau’
S} ag)MA HAVIRI YJaHMOE
B) esmawdalamodaw alle:milalleajsi@m moauemad snmeanddmogle: emad @oem’
C) agemay mem oweqjomilg (EMD) 5 aidaticmmes mowimwiaamoem’
D) agglo ealensdmodenio wlelngad mileimald madsladleng mldenimung

73. o.ng,au (3@30(62:'(300310% B0a0 M IOWE}C1 2188 IOPa]OWYM mer(};ommoeagﬂm% a@@®o6m Lo@l ?
. MOMNOM®ED B UWOM YETBGD KOO(FIWMOV MoEAlEOINM ([@IWIMm alss FCI
agORSIHNIMY.
ii. omnomem®m 14 oaimy elgjeglelio FCI o6 aleq|omayens.
iii. comunomem FCl wies asamnmalengs 23 noaaemid:aio 3 QUOSE: BIMDEMIB:EI0
o6ne. sncl 6.03 LMT mocesmewadlyggmoem.
IV. ©a0QBOSIN HSHEIGLINE G yWOMEmEaIes cuodagyal ewelald] FCI

90 0HOHIM,.
A) &gl alosmmala@e)oo B) i, iii, iv agyomicu mo@o
C) i, ii, iii agyomlcu mo@o D) i, ii, iv agyemlcu @o@o

74. op® laEmle @RSIOdM@BILI06M B)8a]00d BH080TINRI HaldmAl®moem MVMIGIWo
laUR@BHOIM@® ?
A) 808 sodeNEU Baldmnlmoem moalwome (Mlememo) sodawd, 2021
B) &#08 soanilowy @odawd, 1966
C) eruil® @HHyMY0Hu0 Mlomo, 2013
D) @oaimymowm mlonoc,1955

75. KTPDS (0dlamem) sodawd, 2021 (ale000 @0axd @dduled mlimio aloaiie mosniausle]
®069a]OWIM GRIWIBE@ a@®O6M VAW HaldOIEBERISIMN® ?
I. @GO NJaOo — M6V
ii. mydwemmwyas afls'— alfles
iii. @mMoend (a1eodldl (uenimilawl) — Erivend
iv. 8moem (ale@odlgl (@moend avenitslawl) — ecugs
A) i, i, iii egyorlcu @o@o B) i, ii, iv agomlau mo@o
C) i, ii agyamlcu mo@o D) my&elad alosmmalawg)oo
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76. Which statement is/are wrong as per the National Food Security Act, 2013 ?

77.

78.

79.

80.

i. Every person belonging to priority households shall be entitled to receive five kilograms
of food grains per person per month at subsidized rates.
ii. AAY households shall be entitled to thirty five kilograms of food grains per month.
iii. Non priority subsidy households shall be entitled to receive two kilograms of food
grains per person per month.
iv. Maternity benefit of not less than rupees six thousand, in such instalments as may
be prescribed by the Central Government.

A) iii only B) ivonly C) iiiand iv only D) ii, iii and iv

Which online platform was launched by Civil Supplies Department for door step
delivery of food grains to Fair Price Shops from NFSA intermediate godowns ?
A) AEPDS B) SCMS C) RCMS D) NGMS

According to KTPDS (Control) Order, 2021, in order to be eligible for getting a Ration
Card, the head of the household or member shall satisfy the following conditions :
i. He shall be a citizen of India.
ii. He shall be a resident of the state.
iii. He shall not be included in any Ration Card anywhere else in India.
iv. He must have an owned house in the address specified.
Select the true answer from the codes given below :
A) All the above B) i, ii and iii C) i,iiand iv D) iandii only

Consider the following statements :

Statement A : Any Ration Card holder shall draw food grains from any particular
Fair Price Shop.

Statement B : The portability enables those ration card holders whose names
included in Ration Card Management System and identified with the Aadhar data,

to draw the food grains from a FPS of their choice, through Aadhar authentication.
Select the correct answer :

A) Statement A is correct, B is incorrect

B) Statement B is correct, A is incorrect

C) Both statements are incorrect

D) Both statements are correct and statement B explains statement A

Which of the following statements is incorrect about the proxy to draw the food grains ?

A) Proxy permitted only to a card holder who is bedridden or who is above sixty five
years of age or differently abled or who is not in a position to visit the FPS for himself
and have no other adult member between the age of 16 and 65 years

B) The proxy must be a ration card holder tagged to the same Fair Price Shop

C) Food grains shall be issued only after proper authentication

D) Fair Price Shop owner or his family or agent shall be allowed to act as a proxy
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BBUTIQ B YMIOHHI Mmoo 2013 (18000 af® (EIROAUM®OIET O®E ?
I @UWEMMOI d:)SYoMIEIBEISRI 6306V BT qVENImIIAW] (MloHE@d BOORDEE (e I@IndMVo
@061 dBBRIO(NI0 @M JWIM Jo RIEIHHOM BRAO®WENE.
ii. AAY $:15206n1608006) (@ I@IROM0 Mo |ETHIQERT H:1ERI0UI00 BHHAYWOMIMBTIM @GOAOMWIENE.
iii. 23MdweMEM®m® cruenitnilausl S 106NIETRWDES) (A IBIMOMVO BAORES) MENE BB BB JUWIM Yo
eIElHIM @ERBROMmWYENE.
V. 8613 DaMenn MAGGUTIE. HHIIM AIEHROQS @BHOOR00 BLAIRIM E: OO
(IVQIDM LI Jo.
A) i @0@®o B) iv ao@®o C) iii, iv @o®o D) i, iii, iv oo@®o

NFSA snagdallafl@g 6nowwmemical@d adlamy’ 80atad @SealERIes @@ yuom yenBwd dawod
ool ewelalol eaiguma@lmow] mlalld meegm” Aldkial GooEle] Boemeeeln
94OFBaNd0 aR@mO6N ?

A) AEPDS B) SCMS C) RCMS D) NGMS

KTPDS (rlmem) eodand, 2021, @omyavdlal, 8803 @0aum @00 IEleniomaila eom y@
BMSIMNBIM, HISLENIMBTIOM N JOMILOBMO BOONERD GIOYQ|OWINM QUIUNAEGD aldell
BHOENMB®IEM
I. e0amyd alvEMOR@lEeEMo.
ii. MOMOdMEED BIDNVESHIOMOVITE66MO.
iii. e @ M6QOEISEMo B0) EOAHM B:0dALI0 EEWIHE HWBOHAISIEMOM aldslg).
iv. dldglay fleinmesld @oegaoeslm mjamnd@l 8oy afls’ oemsowdlesemo.
®96)9 M@ ABlHE LM BB IHHEIE MM WLNOB®A HEHOO @OEETINSJHE) Jbs.
A) meelelss aggjoo B) i, ii, iii agyomiat mo@o
C) i, ii, iv agamlal ao@o D) i, ii agyomicu @o@o

®IOPQOWIMM (AIGRPIUNBRD al@lN6N1B6 18>
dapoaum A agemsxleljo GOaUM &00W §SO oRe®EsIRle GOUM @SR mlamyo
BB JWOMIETBUD G)SIBHIULIN@OEM).

RaaUm B ¢0a® £:00W aoemenad milauamsicd caloietd oibeq|siavlelgieamio
@OWOD WIRW MW @IElolClemmmIMOW GOAUM BHOBW OSMERDHE BDUOR @BUIE-0M
SOQLIOS @OAUDSE Daymies 60y FPS ailom’ ey ywomysmd ag)sieedd satobgenleld
(2100 J@OHOHIOMY.

NAIOW HBDOO OBMOEOCINTSIHE Y.

A) amoaimed A ndleoem, B emgosn

B) (umocimeid B vodl@osm; A emgosm’

C) @6ng (aIqRoaImegio OmEI6M’

D) @6ng’ (aqpoimesgio vo@loem, (l@oalm A @ies alltdle.oemmoen lqyoalim B
BHHYWOM YETBUD AG)SIHOIMBIMIBR Gl l0HlOWHN IOl 2] ®IOPIOWYM (aITYOUMBEI@
a®o6m e®F ?

A) #lsallenw @oegEslcd @oopIavleeml Ao oymelees GoegwE:l@ cmenallwies
@06 o FPS cvasdudlesnod @¥lwoem 16 myo 65 Mo sl (owmas og
D@D BOOWEIBWD EDLJOED B0Y EBHOBAW BaOIDBWDHE MOMED Glalogl @MIAIGMIW
ooflgies,.

B) clatogl @oem mypwalel ss@ilad sou 621 60aund #:0dW ©snwowidensmo.

C) @&y womyemid toalwow @UlE:0ClE:® 0 oBHlEIM Guoato MI@ED M@y

D) 80atd S 9SMERO @OOIOHM H3S06nIMTNEMO aRRMIEMI Gl loglO (aIQIBEHEe M
@OMINUIOBMYENE
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81. In the sentence identify the segment which contains the grammatical error.
Halfway to the office, Raj turned round and went back home because he forgot to
turn the gas off.

A) Raj turned round B) And went back home

C) Because he forgot

D) To turn the gas off
82. Use the appropriate preposition.

Could you translate this

Greek ?
A) in B) into C) to D) for
83. Use the correct form of the verb.
It

raining continuously since yesterday morning.
A) have been B) is
C) has been

D) was
84. Use the appropriate question tag.
She never smiles,

A) Does she ?

B) Doesn’tshe ? C) Didn’t she ?

85. Select the correct passive form of the given sentence.
People believed that the Earth was the centre of the universe.

A) The Earth was the centre of the universe was believed by the people.
B) The Earth was believed to be the centre of the universe.

C) The centre of the universe was believed as Earth by the people.
D) The centre of the universe was believed as Earth.

D) Did she ?

86. Select the correct synonym of the word

‘Vacillate’

A) Indistinct B) Inject C) Surrender D) Waver
87. Select the correct antonym of the word

‘Inimical’

A) Hostile B) Mortal

C) Immortal D) Friendly
88. Select the word which means the same as the given group of words ‘Having both

positive and negative feelings about something or someone’.
A) Ambiguous B) Ambient

89. Select the appropriate meaning of the idiom
‘Take a rain check’.

A) Postpone a plan B) Predict the weather
C) To spoil a moment D) An easy task

C) Ambivalent D) Ambivert

90. Select the incorrectly spelt word.
A) Banquet

B) Bouquete C) Bouquet

D) Boutique
-28-



134/22 - M

91. ‘@a0000’ ag)(M alBEWIOMR aldPWMOS QUM
A) moeniGo B) @nay<] C) alleys D) wy®l

92. '@R&0000 BMIHEYE: ag)0M 660w IOS @Bd®mAo ag)D) ?
A) ERHHONEOHS BMILEIQITB6 18>

B) oyegleaies @noseyde:

C) 9mmao mysies

D) maw®o ag)emace

93. 8Qa|EERYII: — MVIBIEWIOS DHMD
A) ovoall@ B) ovyall@ C) ovyall@ad D) ovoallimad

94. »IWOW alcea® ?
A) wosyualleo B) ©@oals@d C) wogmo D) memounyaul

95. allmy@ — Ao alldleoyey@lo oR® ?

A) 2o+ o3 B) aflad + oy

C) 2aNe'+ oy@ D) allomo + @)@
96. WOl ag)aM alcEmlon (leflow aldo.

A) @oals B) woall®, C) wooallws D) woall®:0
97. enlaniQlalm (al®§QOLOED® aR® ?

A) 20d B) @nd C) &® D) @
98. ®PUVAMIWIES ©BoaO06Mo aR® ?

A) «0dl + s B) g + agmldd

C) ®ymigo + #:00" D) alg) + @oa

99. Do not count the chickens before they are hatched — so@ll’ cvaommow
al9e6eR108] aR® ?
A) 6QI0® algd alyei@d 21051600 ?
B) 988®168:06n8 806mo @aloeel ¥l ids.
C) snaleso myEMU H:0@ T550a.
D) a1eimomd #a8m a0y Mo allsloid.

100. @@ QIOE:\EO® ?
A) allogymseeam QUYBLWIOS BalOENYS]
B) &amleodlenm moemaaies alls
C) woeeinslenm snflazyallom @s mmoesi ag)siemy
D) aoemzen #englgio #0050 msmilg).
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£.218QYENBMIEN. D@ aGRROU0 (IWIMEQ|S®OEM.

8. &7 a19B)ealg|dleal 1 ajmad 80 alerwigs @2106)6MBwW eoyiladfleloe a96BYUIE: @oauwealje (aeIwIgo)
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D@ OO0 651 fISlEeIM@IMIBR  H1ClaliBRBHHIQS] HaIEIUIIBEHIUIM@IEN.

10. pomoaBRW craIa.|S}EmOM @REElenMEIM mmi’ semasnsadmilan anialoomas MldeguweaBwd
©@RLIAIBQY 0 AU H6) 6.

1. wdwiemoo o@Beqjes 8oerd salaymmimgoe (A), (B), (C), (D) agmm moel somaesmd @arldlenio. wdl
IEDO0 HDOOETNSIOB 6. ag)o. @YD, HOMOLHSLIOMIM MNITWORS E2I0B) MMICIM EMOOWIL Vod]
Mmoo qvzalloflenymm &ialg (enienlld) mo@o WRIBO ©:0)8af0 nI0MD Gald@IN GalM Salewoulla]
B0 |04

12. 80602 AW EMEEMIM o 80} DL RIS B o B8RO H®QEMEEBIM o 1/3 @0d66 Maymdnl @0
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14. mldegueaBwd &dMmaId] aloellesnnzmoem’. aldlet@@m (08NS MSEMIBHEWO @TIMISs Yymo
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